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Cuadro 20 (continuación 5)/Table 20 (continued 5)
Uruguay: tablas abreviadas de mortali  dada

Uruguay: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.017 0.017  100 000  1 672  98 493 0.981 b 7 103 481 71.0
1 4 0.001 0.003  98 328   322  392 166 0.998 c 7 004 989 71.2
5 5 0.000 0.001  98 006   144  489 667 0.999 6 612 822 67.5

10 5 0.000 0.002  97 861   149  488 933 0.997 6 123 156 62.6
15 5 0.001 0.004  97 712   436  487 469 0.995 5 634 223 57.7
20 5 0.001 0.006  97 276   626  484 814 0.993 5 146 754 52.9
25 5 0.001 0.007  96 650   708  481 480 0.992 4 661 940 48.2
30 5 0.002 0.008  95 942   753  477 828 0.991 4 180 459 43.6
35 5 0.002 0.010  95 189   931  473 619 0.988 3 702 631 38.9
40 5 0.003 0.014  94 258  1 325  467 978 0.981 3 229 012 34.3
45 5 0.005 0.024  92 933  2 260  459 015 0.968 2 761 034 29.7
50 5 0.008 0.040  90 673  3 646  444 248 0.947 2 302 019 25.4
55 5 0.014 0.066  87 027  5 759  420 737 0.916 1 857 771 21.3
60 5 0.022 0.103  81 268  8 348  385 470 0.874 1 437 035 17.7
65 5 0.033 0.151  72 920  11 019  337 051 0.820 1 051 565 14.4
70 5 0.048 0.214  61 900  13 263  276 345 0.743  714 514 11.5
75 5 0.073 0.311  48 637  15 119  205 389 0.636  438 169 9.0
80 5 0.114 0.442  33 518  14 824  130 530 0.512  232 781 6.9
85 5 0.164 0.571  18 694  10 676  66 780 0.394  102 250 5.5
90 5 0.223 0.687  8 018  5 510  26 315 0.291  35 470 4.4
95 5 0.287 0.781  2 508  1 958  7 645 0.165 d  9 155 3.7

100 ω 0.364 1.000   550   550  1 510  1 510 2.7
Mujeres/Females

0 1 0.013 0.013  100 000  1 312  98 857 0.986 b 7 849 414 78.5
1 4 0.001 0.003  98 688   260  394 065 0.998 c 7 750 557 78.5
5 5 0.000 0.001  98 427   101  491 885 0.999 7 356 492 74.7

10 5 0.000 0.001  98 327   108  491 363 0.998 6 864 607 69.8
15 5 0.000 0.002  98 219   201  490 590 0.998 6 373 244 64.9
20 5 0.000 0.002  98 017   225  489 524 0.997 5 882 655 60.0
25 5 0.001 0.003  97 792   293  488 228 0.997 5 393 131 55.1
30 5 0.001 0.004  97 499   389  486 523 0.995 4 904 902 50.3
35 5 0.001 0.006  97 110   571  484 121 0.993 4 418 380 45.5
40 5 0.002 0.009  96 539   827  480 625 0.989 3 934 259 40.8
45 5 0.003 0.014  95 712  1 312  475 277 0.983 3 453 634 36.1
50 5 0.004 0.021  94 399  1 943  467 139 0.974 2 978 357 31.6
55 5 0.006 0.031  92 457  2 841  455 180 0.962 2 511 218 27.2
60 5 0.009 0.045  89 615  4 030  438 002 0.943 2 056 038 22.9
65 5 0.015 0.070  85 585  6 006  412 912 0.912 1 618 036 18.9
70 5 0.023 0.108  79 579  8 573  376 464 0.857 1 205 124 15.1
75 5 0.040 0.183  71 006  12 969  322 609 0.759  828 661 11.7
80 5 0.074 0.313  58 037  18 161  244 785 0.627  506 052 8.7
85 5 0.121 0.461  39 877  18 373  153 450 0.487  261 267 6.6
90 5 0.181 0.609  21 503  13 100  74 766 0.355  107 817 5.0
95 5 0.253 0.735  8 403  6 179  26 569 0.196 d  33 050 3.9

100 ω 0.343 1.000  2 225  2 225  6 481  6 481 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


